M-A1-6-3_Lesson 3 Exit Ticket and KEY

Oil Changes and Engine Repairs
The table below displays data that relate the number or oil changes per year and the cost of engine repairs.  To predict the cost of repairs from the number of oil changes, use the number of oil changes as the x variable and engine-repair cost as the y variable. 


1.  Plot the data on a separate sheet of graph paper.

2.  How do oil changes and repair costs correlate?  Positively or negatively?



3.  Draw in a line of best fit.

4.  Write the equation of the line of best fit:








5.  What does the slope represent in terms of oil changes and costs?






6.  What does the y-intercept represent in terms of oil changes and costs?





7.  If someone got 8 oil changes in a year, how much would his/her cost of repairs be?
8.  If someone spent $375 on engine repairs, approximately how many oil changes did s/he get that year?
Oil Changes and Engine Repairs – Answer KEY
The table below displays data that relate the number or oil changes per year and the cost of engine repairs.  To predict the cost of repairs from the number of oil changes, use the number of oil changes as the x variable and engine-repair cost as the y variable. 
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1.  Plot the data on a separate sheet of graph paper.

2.  How do oil changes and repair costs correlate?  Positively or negatively?   Negatively
 

3.  Draw in a line of best fit.

4.  Write the equation of the line of best fit:
y = -73.07x + 650


5.  What does the slope represent in terms of oil changes and costs?
  For every oil change someone gets, his/her engine repair costs decrease $73.07.

6.  What does the y-intercept represent in terms of oil changes and costs?
If someone never got an oil change, s/he would probably spend $650 on engine repairs.

7.  If someone got 8 oil changes in a year, how much would his/her cost of repairs be?



y = -73.07(8) + 650 = $65.44

8.  If someone spent $375 on engine repairs, approximately how many oil changes did s/he get that year?



375 = -73.07x + 650



-275 = -73.07x


3.76 = x  about 4 oil changes
